— " s .
L WA O AN A8 e LT, T w1 e e ¢ 4 o (Sipponn AT,
C wherw A B and € e dimenvions AT, UT* LT, respctivey, tha the vshuam of n snd musBel
(A 2/ A e @as s (s s ger )

2 'M-mlﬁmmlhlmmnﬂiwﬂ
Ay ML oy Mt €y miLr ! @m‘f"
3 coWn A, B e € ad W e 12, 5 8 13 W AvBeC 1 Ash exyrvony warel cenme W TP (The
magnitudes of vectors A, 8 and € are 12, 5 and 13, respoctively, and A+ B = C . What s the valve of

the angle between A and H7)

(W ®% ©% ©%
m,mmwmﬂavmnmﬁﬁmmwmsﬂm oot e S wen (5) £ N
gaf (v) o wfiads fola wzar (A car is travelling a1 a constant velocity. Its brakes are then applied, cousing

uniform deceleration, Which graph shows the variation of the veloeity v with the distance £ of the car?l

o ll b_ o ‘L o b__

£l x
5.y Aot 72 ken/h wagpfiere sersi oot e crEpd T 1 /s’ o qarsTa weew AOTY FET (A car, moving
in a circular path with a constant speed of 72 km/h, experiences a centripetal acceleration of 1 m/s.

What Is the radius of the circular path )
@WB m {D) 200 m

{A) 150 m {8} 300'm
arsifs sty p-Digs wdsfoma s wffrar® el (GFAI) (What is (are) the charge carriee(s) ina P-

type semiconductor at raom temperature?)
(8) oyure Bowaha (electrons only)

{A) =para caie (holes only)
mﬂ a2 SreraGA (both hotes and electrons)

{€) wag = (positive ions)
N/m? | STl gl 7,5% argre # o Mg e A (Young modulus

7. aaf e S we o 4x10"
of a string 15 4x10"" N/m’ . How much stress has (o be applied to Increase 7.5% of its length?)
(D)4 % 10" N/m’

(A) 7.5 « 10" N/m’ @3 « 10" N/m? (€} 533 = 10" Nfm’
asfD ST S F = (101 + 10] + 10K) N a1 srzue e e et =0 7 = (21 4 2] ~2K) m 1 T T TS T
¥ 5y (A particle is moved through a distance 7 = (2i + 2] - 2k) m when 3 force F =(10i +10j +10K) N is

plied on it. What is the work done by the force?)
(C) 101

@ 20) (8)30)
wfii waf® waw g fram Ried @ 26, OEE s arEaa i (1 the amplitude of oscillation of 2

(D) 201}

9,
simple pendutum is doubled, then the period of oscillation will be)
(A) féwe 1c4 (doubled) (8) wedw =4 (halved)
(D) e vz {unchanged)

(C) braed T (four times larger)
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mmm.mﬂmﬂﬂnuﬂ#.iﬂﬁiﬁ'

:ag:_aqﬂ'.w-ﬂﬂ-.ll e e Ry
mﬁm!ﬂlwﬂwwnm;mmn _
®3 3 0 ﬂ ;

A
g _
1 '1_ [
mmﬂlmm"

M'M'ﬁmﬂmqﬂﬁmmnawmrm
times will the fraquency increaset]
r

increased 4 times, how many
(A) 16 i 4 €3 ©
12, swerdy afum com cote «ifer fw sy (Which physical quantity remains comstant in an adlabatic
process?)
{A) ErerarEt {Iempﬂatuul
4% (entropy)
13, o%e® qob (g, = 9.8 /5%) T orre iy e o o | wiy ek (g = 1.6 m/s
s wEvych €A (Suppose You have a pendulum clock that keeps correct time on th
You take it to the moon (=156 m/s). For every hour (R) of interval (on the earth], the

record)
9.8 1.6 98 16
witn o @ e®
14. ﬁaﬁqnmﬂﬁmmmmwm 105 He, 315 Hz 431 525 Hz immmmwﬂaﬂw
tuning forks are 1aken whose frequencies are 105 Mz, 315 HL
of their

ﬂmmmﬁnwﬁm: (Three
and 525 Mz, respectively. If these forks produce sound waves In aif, what will be the ratio
(€)15:5:3 @5;3:1

respective wavelengths?)
| o T =S T TURFCE V)
ses My and M.

1.

(B} 91 [pressure)

(0) =erw B ¥ (internal energyl

) cram o o % AN

e earth (e = 98 mis).

moon clock wil

(A)1:3:5 (B)3:5:15
15.mmumaamzuﬁﬂfﬂmm,om,maﬁ'mwm vy
is expleded into two mas

il 1< iRl vofvy Sl T (A body, initially at rest,
These masses move apart with speeds vy and vy, respectively, The ratio vi/v; is equal o]

My Eald M,
(A Mz ‘E My {c] E

16, fira smfifs 3dre gz |y #% 247 (What will be the current I, in the circuit N !
shown in the figure?)
(g)0.26 A gy 120 106t

((Rpo.16 A
(C)0.36 A (0) 0.46 A
azlnﬂzlwﬁaﬂﬁlwmuiﬂ}amﬁ

17, 5% #rad SO % 220 He
%7 (There are two tuning forks of frequencies 220 Hz and 210 Hz.

© f32

Py wra 9 ﬁmmm-m&ﬂﬂm
If the forks are sounded together, the

number of beats produced per second is)
(A) 220 (8) 210 (€) 430 ()10
18, cara SreraTa (AfOLs o6 9 raAaas care TR (Which temperature is same in poth the Centigrade and
the Fahrenheit scales?)
(cyo°® (D) 100°

~40° (8) 40°
e |

http://www.pdffilestore.com/category/du-admission/



http://www.pdffilestore.com/category/du-admission/

o : 0P -
Wﬁhuwm-ﬂ-qumw’w
 w226x10' /] (The ot of v for 373 g e o 1OPCA0 ot
T Iﬂ“ﬂﬂlﬂbﬂumﬂm «2.26 « 16° 1) :

(W)2.26 < 10 4/% 1aazons 10t (QA65.04 107K
- &':ﬂﬂwwmw'mw ermrone STV €A (1 the critical ane for &
th nrfaéﬂh'haummwﬂuﬁuﬁwnmﬁmm
A :}1 () V2 m? : @‘,’1
21. F corert g fafen o Fgm (nwEe gy WemeA wTn wiore fufmg omvaT WY % m,wﬂ_ﬁwh
resultant focal length of two coAvEx lonsas in contact I £ is the focal length of each lene?)
(8)2F (@2 (0)F

(A} 4 F
o,lnmhmm _
ry of emi 12 W and

22 12 v efgwnrs ofF a9
; 'ﬁmqﬂﬂmf.owmm-mﬂmﬂr{nmm
if the potential difference acr

connected to an glectric motor,
pplied to the motor?)

mmﬂi'm .

R

resistance of 0.1€1is

becomes 7.0V, what is the current su
50A {B) 70 A (CY120A (D) 190 A
23. .gmmwmnﬁmwmmmmmﬂmmwmmn;mnmm
between two equal charges is reduced to haif and the magnitudes of the charges are alio decreased 10
half, the force between them)
(A) siedm @ (reduces to half) (8) fes &2 (becomes double)
wfrafs @rne (remains unch anged) (D) 7204 =7 (becomes four times)
24, el BfpupTdn T AN (Which one of the following is not an electromagnetic wave?)
(A) Radio wave (8] Microwave (C) Xe-ray Iteasound
25. Mmm.ﬂaﬁw-ﬂmaﬁwxﬂﬁ wfﬁﬁmﬁmmgnﬁmmwmuwﬁ
B ey ol Ay an =4 (An electron Jnd 3 proton travelling with the same velogity are in
into @ region of uniform magnetic field at g0° to the magnetic field direction. The initial magnetic forces
on them are)
(A) = wd g% v (equal in magnitude and direction)
e faerrs fars (equal in magnitude and opposite in direction)
(C) 7T G et wyETA (equal in magnitude and perpendicular to each other)
(D) fom ww faerine fare (differing in magnitude and in opposite direction)

26. aﬂﬁmﬂmwaaﬂﬁm s AT TARETA 1000 9% 100 3 S 1.0 am%ﬁlﬂﬁ!
ae o s W SR orTE e T (Number of turns in the primary and secondary coils of anideal
transformer are 1000 and 100, respectively. if an AC current of 1.0 A flows through the primary coil, what
current will flow through the secondary coil?)

((8)10A (c) 124 () 100 A

(A)1A
27, wwars 4 ferAa A% (Light year is the unit of)
(D) &= (frequency)

(4)fon (speed) ({8 (dsance) () e (time)
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' M (Chemistry)

iy e 25°C ST K, % ¥4 1.9410" atm™
atm ' a1 25°C; what is

‘1. 2nofg) + CLie) == 2NOCl(g)
iﬁ'ﬂr{m:‘mh-mulpn-iﬁo{;} + Clylg) == 2NOCi(g), the value of K, s 1.9210
the same temperature?)

the numerical value of K at
(0)32 %1077

(cj10.2 = 10?

(8)5.9 x 10
wnifes AEs coFir (What is the molecular formula of g in

@ 46x10"
2. GgHy—CHO + CHiNH: > Q + H;0 fidFwTa q 4%
the reaction CgHs ~ CHO + CHyNH; —» g + H;07]
(A I;I 8 I;l
CiH,—C=N-CH;  CeHs=C=N~ CaHs
3. .-mﬂnmﬂmmwwmwmmmmmwwmum gaseous state, one
mole of electron is added to one mole of atom; the change in enthalpy is called)
(A) &z# (electronegativity) (8) s By wnf (277 electron affinity)
H Brogra s (17 electron aHfinity) (D) 3% s & {17 ionization energy)
isomerism Gr¥TE? (Which of the following compounds shows optical isomerism?)
{€) [CHy),C=CHTI (D) CH;CH,CO0H

(C) CH; —CH,—COOH (D) €M ~COOH

g, o= S optical

(A) CH{NH;ICOOH (B) cHicH(NH:ICO0H
5. ST TggTh RTF 134p; pefa iz (Which process produces '3;Pa from " 5eTh?)

(A) a-emission @ f-emission (C) emission (D) neutron-emission
6. el gew me (Which one of the following is not a fuel?)

(A) Ha @o: (C) CHe e
7. e waEy 10.0L faree A A ALY FE (At STP, what is the number of moleculesin 10.0L methane?)

2‘;5_39 x 107 (8) 26.89 = 10" (€) 0.2689 x 107 (D) 26.89 x 10
8. @ﬁﬁ‘ﬁﬁ*—&lﬂl a7 TomaT #m7 (Which one is not a constituent of cement-clinker?)
(8} Calcium alu minate  (C) Magnesium oxide nd’num oxide

(A) Calcium silicate
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(Which one of the following is Lewis acid?) :
| ~ [BHso,
qreTEn7 (Which one is the electrophile?)
() PHy (B)1:0 ©er, (0},
1S, o2 NaCl e PR 16 Wy ST 3 STEATES IS N 8 £ SO (The amount of Na deposited o
the cathode when 1F of electricity is passed through molten NaCl is)
(4) 23g 23.0¢ (C) 46.0g (b) 115¢
116, MnO; STIACE ethandioate ion Fik FEenfe 320 Min &% W 14 21 (When permanganate ion is reduce
hfﬂhmdmrehn the oxidation state of Mn becomes}
(A) 7+ (8] 4+ (@2 (D) 3+
/.l?l.ﬁulﬂﬁ &z = Bfeewrgn %1 (Which of the following statement(s) is (are) correct?)
i, syl feet oo Cr®* a7 fsfis =30 (effiuent of tannery industry contains ™)
i, BBfawt s fopet oo Hg™* Fof 4 (effluent of urea Industry contains Hg™)
Jil. @O dufa wE carm Pb* Bk 7 (effluent of battery manufacturing industry contains Pb")
(A)i+ii (8) i + il ()i (D) i+ i + il

CH, — CH(CH, JCH, — CICH JOH - CH, ~CH, is)

(A) ;Z_;#-ﬁ-’mﬁhﬂhmml*‘ 3, 5-Dimethylhexanol-3
(C) 1-Ethyl-1, 3-Dimethylhexanol-1 (D) 1, 3-Dimethyl-1-ethylbutanlol-1

19, Firs7 @i f5w 712 (Which one of the following is incorrect?)

(A) The pH of a 10" M HCl solutionis 2. (8) The pH of a 0.01 M Na,CO, solution is higher than
(C) The pH.of . : -9 y T
Jg;ﬂ‘le_ lfa%- _o’rf':niI orrrq ca'ileicslg'rz\?/du-admisgl‘;%r!}'I e pH of 3 107" M HCl solution is 9.

20 (712 .
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) 2 120" (s 1€ (o) [ Cuts)
20 (a0 Zn(s)] 1C07* (aa) | Cu (s) (o) 2n*" ()l 2nis) jcu sl (aa)

' umwquﬁm:wmhmmmmummumuwm
(@) N (€1 s (OES

2ais)l [Culs) 1€y’ (a)

-_wu‘la

MMMWWMMHI (Which one of the lollowing udlalmhmththnllﬂ
wavelength?)
(A) Gamma ray (€) Visitile ray (D) X-ray

22, mmm"uw%mmmmmm: |wmhwummmvmmﬂ=
mﬂwmhnm:wul for Co and Co™"?)

(A} 4d’5s’ andad’ss®  (8) 3¢’ s’ and 3d'as”  (C) 3d" 3+  and 30" 35° @ 347 44 and 39" 4"
28, Farsw corm Feam «3fre e 36 s ®f xwda 3r4r (Which one of the following diagrams supports Pauli
exclusion principle and Hund's rule?)
WO® OO® " ®e 000 ©00 000 @60 00
29 c!hm-ammﬂﬁmmm s xng vl F@ wE (Which group of the following can be
differentiated with Fehling’s solution and Tollens reagent?)
(A) Alkane and Alkyne  (8) Methanol and Ethanl (ic)Aihenyde and Ketone (0) 1° and 2° Alcohol

ﬁ-:o,‘x‘a.mnlt." s o G sTresEe 0,01 molL ! 4 Pafirs i (7R DD FATTE (A Borge? (Which setis

the most suitable to prepare a fixed volume of 0.01 moll”* solution from 0.10 moiL " solution?)

(A) Pipette and beaker (8] Pipette and volumetric flask

tmu'ins cylinder and volumetric flask (D) Burette and beaker
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1-tn '_ i@nmusnmm el

-3 ®2 -1 o -4 s

—ﬂMnlﬂmnﬂdtM&mWIm llun'lhlr |
- TR 14 | !
~“:e‘ 1=0 @2\" —arp1m0 (O rx4I=0 )2 +2x 4120

o W “!f 'Mmmmmquﬂm:ﬂ aﬂwin:ﬁ -

tmm oy ammumwmnnmmu permutation by taking

.‘.ﬁ[‘ ne= '«\ﬂ -I.'lihl! i

e aasusaL wen th vlve ol £ 4 i
w2 (8)3 (GE o
% [;--J a1 fegfme vonl & [Thlnﬂddhlwmintheelmmﬂ[x-:] i)
; (8) 12708 @zm (0) 12807

3
1 - }-] 4o+ to infinity is)
I. 1+-—+( ) ( ] .. iy wéy 24 T4 (The value of I+3+[3] [j

1
w3 ;- © 2 () 3
\ The a
s, ;-n-aj.pz: @ Bu2i-3j+4k ¥ AN srvafires ifes g ww cwen WA |

:pnwmm nli-—i}ﬂk and b=2i- 31+4I: as the adjacent sides %)
ﬁl}:hﬁ nuru‘ts (8) 6v3 sq units @E-f $q units (0) 3v6 5q units
ﬁ’u-lﬁi % & v=3i-2j-k a7 wge o (The angle between vectors 5=21+j-3k and

- ii‘-a-‘-zj--t is)

rea of the

(8) 45° (€) 30° (D) 120°
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P SosA® e (7 w08 x4dp=b mmmmw sl
“wi'w,n?hu:mmmnfumeWﬂwﬂ"“
and x ¢ Ay = 0h) ' : | A
23w 0 (0)3x =7 =0 € 7x~3=0 {0)23x =13 =0
e ] = ' X
=2 wncos’A~ cox'BARNAUA 4 H = %, then the value of cos™A ~ cos 8 )

' mmﬂ«- By In(ﬂ ~A) (€) cos(ft ~ A) (0) ~co3(A = B)

s | 16 0% x < 90° € sin 3x = cos x MEAFATTL W ¥ (1 0 5 0 < 907 then the solution of the equation
ft’:; :: :3’ i (0) 0°, 225" (i ase. 45° (0) 225°, 45°
T &i.t'f'.i.}'ﬂn"y -;' oo coafs wikar (Wsin ' a bsinly = ;.thtnwhbchnmhmeﬂﬂ
@.'r'l-ll-.’;i"'-l Bl xf—yi=1 Cx+y=1 o) x-y=1
18, f(x) -_3'“ &4 5% (The domain of £(x) = JILT is}
(A) [0, 1) ®) (0,+») (€1, + ) (~m,0)U(0, + %)
: NS I ARE I
19. -‘wm "m"hﬂ‘\'ﬂ“ﬂ' ‘l_liﬂ‘-h' Py 1) :
! —
W ; (8- (i, )2
20, f(x) =X =1 @n ['(2) axwa(if f(x) = Vx — 1 then the value of £~ '(2) is)
(A) -1 (8)3 (€)1 5

21, (4, 3) firsze 3x? = dy? = 1 2 wfiegra reoaT BIOTE A (The value of the slope of the tangent at the point

{Ll,sjallhchvperboll?.x’-+'= 12 45) .

(A) -1 ! () ; (© ;
22, 0% — x4 4x? 4 § @ w4 (The minimum value of x* — dx? + 4x* + Sis)
W oa s (€6 ©8

.'-‘.;I'a;.-;t_n";_ﬁfﬁgﬂ;;d; =8 W, o j'o“ f(2x)dx @ wm (if j: [(t)de = 8, then the value of j: [(2x)dx is)

. Wo (8)6 (€) 10
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- f{x) 4N J 0y o (Y f eg = [(x) ¥ €. thae J1ER ﬂ"“ﬁ@
yoctx

“ I' ‘lu
(M) sinE {8 sin"t x (C) cosx
5. f,nm.u'uunumu-j_‘.l.m i)
a2 (o) -1 1 (o)
2% ymxlxm)x=d dlt:-ﬂﬂhﬂnmm“nuuumdq»dhy- gloxml, X =1
and x-axis is)
@m;qumn (8) 8073 1q uni3 (C) B/ s units (D) 3573 saqunits
27 x+2yS10, x4y s6 sS4 x,y 20 vl = 2x 43y ag wodrs Wi (The masimum value of
10. x+ysb x5 x.yz0is)
6 (o) 18

7= 2¢ + 3y subjectiox + 2y 5
{8} 1%

{A) 14
N wmEn 53T am ol ooy ﬂtﬁﬂramw.mﬂ!ﬁ!ﬁmumfumﬂ magritudes 2N

dmum magnitude of the resultant i)

28, IN &9t
and 5N a<t an the same line in the same direction, then the ma
N [B)3N [CIvZIN D)SN
29, ¥ y gt SIERTRE MRY @ e ey 1y T oo wre wigme ke Se M aﬂm.m;"—,m{um
H
greatest height His attained in time T by a body projected with a velocity of u at an angle a, then 5 i)
2 a 1
w2 : (€) g o)
30, 1% 99 ordy el OO T wsdire sl Rewn Gout wpw (il ool RaTE M RLA (if 2 number is chosen
randomly from 1 to 99 then the probabifity that it would bea square number is)
1 - 1 i
4 3 e 3 = o)
drafasi= (Biology)
1. oy spie piy GoTarEa XM O warq aredy (Who proposed the fiuid mosaic model of cell membr ane?)
(A) STsuf @42 559 (Danielli and Dawson) (8) g a7t o (Lenard and Singer]
@ﬁrm g frswsm (Singer and Nicalson) (D) G (Benson)
2. DNASow cffrm.ae 5T §ns.cx wara B 4wy - (The distance between two strands of a DNA double helin i5-)
[C) 0.34 am (D) 34 nm

{A) 3.4 nm 1' nm
@ Trichophyton

el wPTaATY oW ATEN? (Which one is responsible for ringworm disease?)
(C) Rhizopus

{A) Phytophthore (B) Alternorio

car® cesfiyra o e wfefi®r (Which one is known as Reindeer moss?)
{€) Xonthaoria 5p. (D] Peltigera sp.

4.
(A) Endocorpon miniatum Clodonia rangiferina
5. fve cerafbry el wiger (Which ane of the following has ramentum?)
(A) Riccio (B) Marchantio ‘@Pams (D) Drynaria
6. comBre Yerfira Defae feem ey 3 TR (I wehich of the following an insulin gene has been inserted?)
(8) Lactoboillus @ . coll (D) Agrobacterium

(A) Bacillus
R iwa w6 s b Swfyfe wrsr (What percentage of algae is present in lichen?)
(D) 65 - 85%

7.
(A) 90 - 95% s - 10% (C) 50 - 60%
10
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the cranial narves heips in the movement of 160gue?
(g (Mandibuler)
ey (Hypoglossal]

122, comt wonfRy wTY fireet smgrca wraTy W (Which of

23, N & STRTH K 48 el sweE AT XM (The name of the ragion betwaen Wallace snd Weber ines i)
(™ ¥ ' 8) orvefiur (Waberis) '

: mm- Wﬁvﬂm; :aimsr-diiﬁ (Wallace Weberia) :

b appendage does the grasshopper use for cutting food?

24 cov BerwfS won Wl v S A 9007 (Whic ;
(A) e (Labrum)  (ByERTe (Mandible) () amfar (Maxila) (D) Wt (Hypopharynl
25, Wy cw e v ST X281 (Which membrane the cartilage is covered with?)
cofeaigurs (Perichondrium) (B) feSem (Cuticle)
otfitforn oz (Perizrophic membrane) (0) efesfrume (Periostium)
26, =Rt sefire G caTY MCT B =TT (Which cells of the stomach wall secrete
(A) feBerr (Mucous) (B) co=B% (Peptic) @-mm {Parietal)
27, Rrwr =w wfber (<) COT% OTAT TSNP (Which one is the migratory behavios of winter birds?)
(A) wupres (Habituation)  ((B)EETE (innate)  (C) ¥ {Learning) (O) e (Imprinting)

28, 5 o« e =% «iosa 5 9% (What is the length of a single helb-turn of DNA?)
(a) 22 A (8)22A (C)3.4A .u.l

29. prefRermcafior M - (Gluconeogenesis is <)
FTETAE’ BT (urs peTs MO (the synthesis of glucose fram non-carbohydrate sources)
) F eSS DO cvrs eYRCEIE W (the synthesis of glycogen from non-carbohydrate sources)
(C) Fhwms B o eriTee ez (the synthesis of glycogen from carbohydrate sources)
(D) FTATTES Sor e prrst NI (the synthesis of glucose from carbohydrate seurces)

30, WO wE WgE WVETEE caTen orefalR anfirg ar wdas wufe @ 2 - (Unsegmented, soft-bodied animals

covered by a mantle belongs to the Phylum -}
(A) arffirs (Annelida) mw {Mollusca) (C) 7Bt (Nematoda) (O) e#Ramsnd®s (Echinodermata)

S

HCIT)
(0) =fSw= (Cardiac)

4@l (Bangla)
1. soorre xyrdar T andt Awew Do & gfarone
(A) “fewrs za w; (C) oz =iy (D) =Ty

2. ‘ot wy araes foftm we' - 4R 'R (B o
(4) o (B) =ars @mm (0) . faoue

3. fegm sw wpnee o wall WAl
(A) TS TR S IE KW AT (B) %AHTE WA 4 (5T

W;ﬁmmnm. (D) ¥Feter oo wrere wrfifs
4, ol and s Ty

(A) % (8) fay (€) B
S. ‘core w5, TN 4 " - I -

(A) s wfe 3 srgard ( (@) avpa wreere

(C) wemxfors spmwe weera D) s wue ¢ wu ofeefs
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fywa 10) g% & weree lemx

(C) = qeeen ]

=y
-
»

(o Mﬂ-ﬁﬂi '

e

3 S oweybody cied Up Nt eauty’ MY EREN TpR:
) SR a0 4 1 ¢ prwe w oces yeR
e e e i VY ) e i s e o
B ol Sepreirem s oW 20 .
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wurafe (English)
Read the following possage ond answer questions 1-5
t that takes place on several levels: biological,
ologists would agree that ageing Is the

ocess of human developmen

ageing, most geront
| processes. The
n from use. Ac
suth 2% stre

Ageingis a normal pr

and social. Although it is not certain what causes

resuflt of a combinatian of both internal and externa
chine that over time wears dow

human body to a m3a
receive cumulative damage from poth external forces,
sed as a resu

and internal forces, such as toxins, relea
increasingly fail to reproduce ©Of repair them
“combination theory” explains that although in
such as stress and diet, each person is born with
exceeded. This interaction of external factors
variations in the life span. The mystery surraun
Perhaps, one day we will truly know why we age.

According to the ~wear-and-tear theory”,

@mms}ca! and social consequences
) psycholegical and social consequences

1.

2. Gerontologists are
a) researchers who look into

@ seople who study old age.
impacts of food on our nealth.

study the @

(C) nutritionists who
dy the ph,rsiolngical processes

(D) scientists who 5tu
e is afan ;
(8) adverb

‘cumulative” in the passag
(A) verb
4. ‘Metabolism’ is

(A) the process of ageing.

(8) the extract of toxic ele
(C) the intake of toxic elements throu gh

@) he chemical processes that occur wit
5. Asynonym of ‘prolong’ is :

http:// estore.com/cat

ments from cur body.
our diet.

A5 mission/
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selves, They
dividuals can prolong |
a genetically predetermi

and internal pro.

ageing takes place du
(8] psycho
(D) biologica

gramming W
ape is still a topic of

m.hﬂﬂ'ﬂmﬂrﬂi

cording to this th
diet, and life style;

55, the environment,
it of metabolism. Cells pecome damaged and

r numbers as we 3gE.

die off in large
modifying outside influences

ife by
ned life expectanty that cannot be
ould account for individual

numerous ongoing studies.

et
logical and biological consequences

1, mental and social consequences

the mental states of human beings.

of human organs.

@djer_tive

14

(€) curtail

(D) noun

hin a living organism to maintain life.

(D) reduce
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6 b waid e had delt the parcel this chair
{A) on, by (8] in, near (€} unader, on
7 We were enpecting a beutiful weather ol tha beath, but it was 5 cobd and raiey R petiing »
wun tan, | caught a cold
{A) In cave of (B} just o @ et of (D) ne wry
8 You have to take the full courie of youit antibiotics you feal better, _____. your BN -
simply return
(A) although, so that  ({8]kven il otherwise (G50 that, o (D} unbess, 300
9. Outside the bright primary rainbow, much fainter wecongary ranbow may b vt
(A) s0 {8y still @a (D) o
10. Manybooks ________ aboul success, but one of the best is by Dale Carnegie
{A) have written ({Byhave been wnitten (€] had written (D) has written
« b TR W withstands testing. we may not conclude that it is true, But we may Fetain it
@Il‘ a hypothesis (B} That a hypothesis (€} A hypothiess (D) Hypothess
12, Astrict vegetarian
(A] rarely eals animal products (B] sometimes eats 2gEs
ever eats any animal products {D} never eats protin
13. The fact that some birds fiy hundreds of miles 10 without ever having 1o l!gp\l': simply 3MATINg.
{A)] flight (B} sertie (C} submerge (D) migrate
14, Although she a part of the excavation team, she was not allowed to actively in the
field.
(A} Is, warking (B) is, worked (C) was, working { 1D}wa-_x, Wik
15. Rahim found a laptop in the classrodm, but could not determing it belonged (O
ho (B) whose (€} whoe's (D) who is
16. Scientists have discovered 2 liquid which beils at about 165 C with decompaosition
(A) partial ({B) party (C) partially (D) paruing
17. Since the bus companies compete with one another, the drivers have every inc entive to drive
aggressively and take more passengers than the buses hold.
(A) can (8) could @ should D} would
18. One and a half million people drive ric kshaws for a living, plus hundred thousand who own
and repair them,
(8] a few (C) lintle (D) a little

its own initiative has encouraged and created financing opportunities for
the Bangladesh Bank's green banking programme.

few

19, The government
biogas and solar power projects, such as
(A)in (B) at @ on (D) beside
20. 1could not laughing.
{A) but (B) assist @ help (D) though
15
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() e situation may not improve (8) The situstion do nat improve
- (©) The situation does not improve (D) The situation s not imerove
22, The future of the planet doesn't ook tao §00d, but thece st much

(A) 1 can make sboutit ({8 candoaboutit  (€)can I do about it

23, Please let me know why the class.
(B) didn’t you attend (C) you didn’t attend 1o (D) you didn’t 80

(O catt dosbora .

(R you ddn't attend
24 What does global warming have overpopulation? _
1A) to do ({@ro do with (€) made (0) made up
25. The idiom ‘Let the cat out of the bag’ means .

{A) 1o help the poor (B) to solve someone’s problem

@'q reveal secrets (D) 1o throw somebody out of the house
26. Which one is the corract spefling?

(A) nevigation (8) navigetion @awiytion (D} nevigetion
27. What is the antonym of ‘tranquil’?

(A) serene (8) calm (icPagitated (D) placid

28, Choose the correct sentence

{A) He used the phrase you know 5o often that | finally said, No, | don't knaw.
(8) He used the phrase “you know" so often that | finally said, No | don’t know. y
(C) He used the phrase you know s0 often that | finally said, “No, | don’t know.”
éﬂe used the phrase “you know” so often that | finally said, “No, | don't know.”

29. What is the noun form of the word ‘pronounce’?
@}.- ronunciation (8) pronounciation (€) pronountiation
30. The correct translation of “WPTIFR & Hx THHwe T 1©
A} Smartphones will lose their popularity someday.
((8)smartphones will lose their popularity sometime.
*) Smartphones will lose their popularity once upon a time.
(D) Once upon a time smartphones will lose their popularity.
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(D) pronounciasion
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